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1(Sınav Kodu: Y2223) Diğer sayfaya geçiniz.

1. Bu testte 80 soru vardır.
2. Cevaplama süreniz 120 dakikadır.
3. Cevaplarınızı, cevap kâğıdının İngilizce Testi için ayrılan kısmına işaretleyiniz.

1.	 The company offered the employee an - - - - 
position in another department after her 
department was dissolved due to budget cuts.

A) equivalent	 B) illiterate
C) immature	 D) unwilling

E) unaware

2.	 The school administration is investigating the - - - - 
of several students in a physical clash that took 
place on campus last week.

A) expression	 B) capability
C) involvement	 D) confusion

E) location

3.	 The patient complained - - - - of pain in her joints, 
prompting the doctor to order further tests to 
diagnose the underlying condition.

A) deficiently	 B) tightly
C) closely	 D) annually

E) persistently

4.	 Many psychologists say that rough, aggressive 
sports like boxing are a way for both players and 
viewers to - - - - their anger.

A) generate	 B) release
C) underestimate	 D) devote

E) fund

5.	 A patient’s blurry vision might - - - - a cornea error, 
which the optician can promptly diagnose and 
correct with a new pair of glasses.

A) look up	 B) look after
C) take over	 D) stem from

E) give off

6.	 Over recent years, many skilled craftsmen and 
women - - - - their jobs in the pottery trade in 
the UK, but gradually English porcelain - - - - its 
reputation.

A)	 lost / regains
B)	 are losing / has been regaining
C)	 have lost / is regaining
D)	 had been losing / will have regained
E)	 have been losing / had regained

7.	 Traditionally, fashion retailers - - - - four collections 
per year, one for each season, but nowadays fast-
fashion companies - - - - and manufacture clothes 
in as little as four weeks.

A)	 had / can design
B)	 have / might design
C)	 had had / used to design
D)	 will have / may be designing
E)	 have had / were able to design

8.	 Despite often - - - - in popular culture as primitive 
and unintelligent, Neanderthals had brains slightly 
larger than those - - - - in contemporary humans.

A)	 portraying / to be found
B)	 being portrayed / found
C)	 having portrayed / to have found
D)	 portrayed / to find
E)	 to portray / finding
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9 - 15. sorularda cümlede boş bırakılan yerlere uy-
gun düşen sözcük veya ifadeyi bulunuz.

9.	 Some microbes are capable - - - - developing 
resistance - - - - the antibiotics that are frequently 
used.

A) from / in	 B) to / against
C) at / about	 D) in / for

E) of / to

10.	 If you are driving - - - - the speed limit nearby a 
school, you are doing something that is dangerous 
and - - - - the law.

A)	 within / opposite
B)	 at / for
C)	 along / out of
D)	 towards / off
E)	 above / against

11.	 They’ll be able to take on some permanent staff - - - - 
they have fully established themselves in the city.

A) as though	 B) whereas	 C) once
D) even if	 E) unless

12.	 - - - - the solar system looks minuscule when 
compared to the vast distances between galaxies 
or even our closest stars, it is enormous when 
compared with distances on the Earth.

A) Providing	 B) Even though
C) By the time	 D) As long as

E) Since

13.	 - - - - engaged in as competition - - - - as recreation, 
waterskiing is an exhilarating outdoor sport.

A) No sooner / than	 B) Scarcely / when
C) Whether / or	 D) Neither / nor

E) Such / that

14.	 - - - - the great diversity in social behaviour and 
habits between different types of ants, most of 
them have the same basic physical structure.

A) Until	 B) In spite of
C) Thanks to	 D) As a result of

E) As well as

15.	 Noise pollution is considered to be - - - - unwanted 
or disturbing sound that affects the health and 
well-being of humans and - - - - organisms.

A) any / other	 B) no / all

C) some / every	 D) one / both
E) the whole / most
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16 - 20. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz.

The scientific community (16) - - - - for over 80 years 
whether caffeinated drinks, such as coffee – with an 
average cup having 100-140 milligrams (mg) of caffeine 
– have an effect (17) - - - - fluid balance. Caffeine 
affects the hormones that control fluid balance, and, if 
consumed in large doses (over 500 mg), it has a diuretic 
(fluid loss) effect. This is (18) - - - - noticeable in people 
who do not drink caffeinated drinks regularly. (19) - - - -, 
it is not clear whether the body gets used to caffeine 
exposure and if the diuretic effect gets reduced. In that 
case, drinking coffee would add to keeping the body 
hydrated (20) - - - - the other way around. 

16.	

A)	 is debating
B)	 had debated
C)	 was debating 
D)	 has been debating
E)	 will have debated

17.	

A) with	 B) on	 C) along
D) for	 E) to

18.	 	

A) narrowly	 B) preciously
C) particularly	 D) singly

E) hopefully

19.	 	

A)	 As a result
B)	 For example
C)	 Nevertheless
D)	 Afterwards
E)	 Similarly

20.	 	

A)	 because of
B)	 such as
C)	 due to
D)	 instead of
E)	 in terms of
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21 - 28. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz.

21.	 - - - - it is characterized by muscle rigidity, 
difficulties with motion, balance, and coordination.

A)	 Since Parkinson’s disease affects the brain’s ability 
to control movement

B)	 Although some research studies suggest 
Parkinson’s disease affects more men than women

C)	 While some cases of Parkinson’s disease appear 
to be hereditary

D)	 By the time the symptoms of Parkinson’s disease 
begin on one side of the body

E)	 Before people with Parkinson’s disease experience 
stiffness and tremor

22.	 Although cycling to work or school has obvious 
health benefits and reduces air pollution, - - - -.

A)	 this practise is by far the most efficient one in terms 
of being eco-friendly

B)	 it is not very practical in every climate and can be 
risky in heavy traffic

C)	 putting a tax on fuel has both advantages and 
disadvantages

D)	 this allows some flexibility for car drivers
E)	 there are a number of steps that can be taken to 

reduce road congestion

23.	 With more and more people buying electric cars 
and storing energy at home, - - - -.

A)	 road tax on purchasing electric vehicles are lesser 
than petrol or diesel vehicles

B)	 transport is a fundamental requirement of modern 
life

C)	 electric vehicles use electricity to charge their 
batteries instead of using fossil fuels

D)	 the global demand for batteries is expected to grow 
sharply in the coming years

E)	 just plug it in to a home or public charger

24.	 Given our closeness to the animals we love, - - - -.

A)	 dogs respond with an oxytocin surge when 
interacting with one another

B)	 even smaller dogs can act as a deterrent by 
barking at strangers

C)	 dogs, cats, and other animals in animal shelters are 
usually tame

D)	 there is a difference between domestication and 
taming of an animal

E)	 we must be getting constantly bombarded by their 
microbes
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25.	 Since no cactus plant is the same, - - - -. 

A)	 it may be one of the few sources of water in arid 
regions

B)	 cacti are flowering plants that produce seeds
C)	 this houseplant is a unique, decorative way to add 

interest to your living space
D)	 the root system of a cactus spread out close to the 

surface
E)	 perhaps the smallest cacti species is Blossfeldia 

liliputana

26.	 Travelling can be a thrilling adventure, - - - -.

A)	 so that you can figure out how much you need to 
save

B)	 when we decide to go on a vacation this summer
C)	 although adventure tourism offers numerous 

benefits
D)	 while people who crave adventure seek out thrilling 

activities to overcome their fears
E)	 but it can also be quite exhausting and require 

careful planning to make the most of your journey

27.	 - - - -, it’s just as important that long-term 
employees are given the same level of attention.

A)	 While starting a new job is almost always a bit 
nerve-wracking

B)	 Although staff training is often mandatory for new 
members of staff

C)	 If your manager or fellow team members have a 
particularly packed schedule the week you start

D)	 Once newcomers are settled at their new working 
environment

E)	 As formal dress codes may seem increasingly less 
common in offices

28.	 At first glance, crocodiles and alligators look quite 
similar - - - -.

A)	 but on closer inspection the two have very different 
snouts

B)	 so the teeth on the bottom jaw fit into sockets in the 
top jaw line and are concealed

C)	 since both reptiles have distinct features that can 
help you figure out which is which

D)	 even if the crocodile has a much wider distribution 
throughout the world

E)	 although both reptiles are very dangerous to their 
prey, capable of attacking creatures larger than 
themselves
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29 - 31. soruları aşağıdaki parçaya göre cevap-
layınız.

On any given day, thousands of people around the 
world go to the movies. Millions and millions of people 
watch television! Motion pictures and television 
programs are capable of stirring deep emotions in 
viewers – fear, sorrow, happiness, etc. In this way, the 
art of movie making and television production can be 
considered to rank with other art forms that also evoke 
strong emotion like literature and painting and theatre. 
Movies and television programs are products of the 
imaginations of many individuals from screenwriters to 
producers to directors to actors, editors, and special 
effects artists. The effect that movies and television 
has on popular culture is considerable, and their visual 
record can have a powerful influence on our minds and 
imaginations.

29.	 According to the paragraph, literature and painting 
- - - -.

A)	 differ from television and movies in terms of 
longevity

B)	 involve numerous people during their creation
C)	 are two types of art that attract millions of people
D)	 can be compared to the emotional impacts of 

television and movies
E)	 are much older forms of art than television and 

movies

30.	 It can be inferred from the passage that - - - -.

A)	 the process of movie making requires more time 
than literature and painting

B)	 television and movies play a significant role in 
shaping society

C)	 the number of moviegoers is a lot more than 
theatre enthusiasts

D)	 the feelings that movies create are often saddening
E)	 a special effect in a movie is what mostly captivates 

people 

31.	 The passage is mainly about - - - -.

A)	 the way movies and television programs are 
produced

B)	 the crew who produce a movie
C)	 a comparison between various types of art
D)	 the impact of movies and television upon us
E)	 the addictive aspect of television and movies
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32 - 34. soruları aşağıdaki parçaya göre cevaplayınız.

The Cro-Magnon type of prehistoric human appears 
to have been heavily built and fairly tall compared with 
the Neanderthals, who were their contemporaries. The 
forehead was straight, with only slight ridges over the 
eyes, the skull long and narrow, the face short and wide 
and the brain large. It appears that early Cro-Magnons 
and Neanderthals were closely related. However, 
Cro-Magnons had a more advanced culture than the 
Neanderthals. They made different kinds of tools such 
as blade tools, scrapers for leather and fine bone tools. 
They lived in caves and under rock overhangs, although 
they may have built stone huts. Cro-Magnon people 
buried their dead like the Neanderthals, and probably 
had a religion: their art may have had magical or religious 
meaning. Cro-Magnons were the first people to carve, 
and sculpted engravings and statuettes of humans and 
animals have been found. In France and Spain, they 
painted different kinds of animals on the walls of their 
caves. They also decorated tools and weapons showing 
that they liked art for decoration as well as for religious 
reasons.

32.	 The author’s primary purpose is to - - - -.

A)	 present Cro-Magnons to readers from an unheard 
perspective

B)	 describe physical features of Neanderthals
C)	 provide general information on Cro-Magnons
D)	 provide us with detailed religious rituals of the first 

humans
E)	 discuss why Cro-Magnons were more advanced 

than their contemporaries

33.	 Which of the following can be understood from the 
passage regarding Cro-Magnons?

A)	 They looked like the Neanderthals in body shapes.
B)	 They were the first people to have used tools in 

history.
C)	 They used tools just for religious purposes.
D)	 Tools were mostly made from bones in their time.
E)	 They were culturally ahead of the Neanderthals.

34.	 According to the passage, religion - - - -.

A)	 had no place in Neanderthal culture
B)	 was first invented by Neanderthals and then adapted 

by Cro-Magnons
C)	 was more important for Cro-Magnons than it was for 

Neanderthals
D)	 was a driving force in the daily lives of Cro-Magnons
E)	 was probably in connection with art in Cro-Magnons’ 

lives
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35 - 37. soruları aşağıdaki parçaya göre cevaplayınız.

Only a tiny fraction of wild mammal species has 
been successfully domesticated in history, because 
domestication requires that a wild animal fulfil many 
necessary conditions: the animal has to have a 
diet that humans can supply; a rapid growth rate; 
a willingness to breed in captivity; a controllable 
temperament; a social structure involving submissive 
behaviour towards dominant animals and humans; and 
lack of a tendency to panic when fenced in. Thousands 
of years ago, humans domesticated every possible 
large wild mammal species fulfilling all those criteria 
and worth domesticating, and Eurasia ended up with 
the most domesticated animal species in part because 
it’s the world’s largest land mass and offered the most 
wild species to begin with. The result is that there have 
been no valuable additions of domestic animals in 
recent times, despite the efforts of modern science.

35.	 According to the text, no more wild animals are 
domesticated today partly because - - - -.

A)	 humanity have domesticated almost all potential 
big species 

B)	 there is not much of an effort from science
C)	 it has turned out to be a highly costly process
D)	 the smaller ones are not inclined to be submissive
E)	 the remaining species are insufficient in number

36.	 As is clear from the passage that Eurasia - - - -.

A)	 was the first place where the domestication process 
started

B)	 was the only land consisting of animals worth 
domesticating

C)	 contained more crops to feed a domesticated animal
D)	 outnumbered other continents in terms of wild 

animal population
E)	 was full of people adept at domesticating wild 

species

37.	 The passage mainly discusses - - - -.

A)	 the reasons why large wild animals were favoured 
over small ones

B)	 why science has fallen back today in terms of 
domesticating new species

C)	 Eurasia’s pioneering role in domestication process 
throughout history

D)	 the challenges and criteria for domesticating wild 
mammal species

E)	 what type of wild animals best suit for domestication
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38 - 40. soruları aşağıdaki parçaya göre cevaplayınız.

The Ultimatum Game, introduced by Werner Guth 
and colleagues (1982), is a simple, take-it-or-leave-it 
bargaining environment. In ultimatum experiments 
two people are randomly and anonymously matched, 
one as proposer and one as responder, and told they 
will play a game exactly one time. The proposer is 
endowed with an amount of money, say $ 10, and 
suggests a division of that amount between herself and 
her responder. The responder observes the suggestion 
and then decides whether to accept or reject. If the 
division is accepted then both earn the amount implied 
by the proposer’s suggestion. If rejected, then both 
the proposer and responder earn nothing for the 
experiment. Economists would expect A to take $9 and 
offer B just $1. But the economists would be wrong. 
Most offer their Bs about $4. It is genuinely surprising 
that people behave this way. If the result held up 
across all societies, we would wonder whether we 
have genes that force us to expect fairness. 

38.	 In the Ultimatum Game, the responder - - - -.

A)	 is expected to divide the amount by half
B)	 can be said to be the winning party all the time
C)	 is chosen among economists
D)	 actually decides whether or not both sides will get 

the money
E)	 sometimes feels regret at the end of the experiment

39.	 As is understood from the passage that - - - -.

A)	 the amount given in the experiment is often $ 10
B)	 the two individuals are paired up without any prior 

selection
C)	 the experiment yields the same result in every 

society
D)	 the game was invented by an economist
E)	 in the game, the participants can try again unless 

they agree upon the shared amount

40.	 The purpose of the experiment described in this 
passage is - - - -.

A)	 to prove that those offering unfair amounts are, in 
fact, generous people in real life

B)	 to measure the participants’ emotional responses 
to the experimenter’s instructions

C)	 to investigate human behaviour in a specific 
economic context

D)	 to examine participants’ knowledge of economic 
theories

E)	 to understand why one side does not share the 
amount given unequally 
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41 - 43. soruları aşağıdaki parçaya göre cevaplayınız.

Many people go through life as though they are 
wearing blinders or are sleepwalking. Their eyes are 
open, yet they may see nothing of their wild associates 
on this planet. Their ears, attuned to motor cars 
and traffic, and their minds hooked on smart phone 
screens, seldom catch the music of nature - the 
singing of birds, frogs, or crickets - or the wind. These 
people are biologically illiterate - environmentally 
illiterate - and yet they may fancy themselves as well 
informed, perhaps sophisticated. They may know 
business trends or politics, yet haven’t the faintest 
idea of what makes the natural world tick. We have 
biologists, of course, and biochemists. But we really 
need bio-engineers, bio-lawyers, and bio-politicians.

41.	 The underlined word “attuned to” is closest in 
meaning to - - - -.

A)	 be in harmony with	      
B)	 be faithful to
C)	 be in charge of		       
D)	 be afraid of
E)	 be out of reach

42.	 The mention of “bio-engineers, bio-lawyers, and     
bio-politicians” emphasizes the idea that - - - -.

A)	 people need to focus on how to use technology 
more effectively in every domain

B)	 more researchers are needed in the field of politics, 
engineering and law at universities

C)	 more specialised people are necessary for 
addressing the challenges in the natural world

D)	 every field of study must work in cooperation with 
politicians who are experts in ecology

E)	 these professional people are far more important 
than biologists and chemists in most aspects

43.	 Which of the following could be the best title for 
the passage?

A)	 Saving the Endangered Species
B)	 Towards a More Digital World
C)	 A Call for Environmental Education
D)	 How to Be a Successful Biologist
E)	 Nature and its Challenges
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44 - 48. sorularda karşılıklı konuşmanın boş bıra- 
kılan kısmını tamamlayabilecek ifadeyi bulunuz.

44.	 Tina: 

	 -	 I love coffee, it helps me stay alert and focused 
throughout the day.

Ryan:

	 -	 But too much coffee can be harmful. It can 
cause anxiety, jitteriness, and disrupt your 
sleep patterns.

Tina:

	 -	 - - - -
Ryan: 

	 -	 I agree that moderate consumption is generally 
okay, but it’s important to be aware of your own 
body’s response and not rely too heavily on 
caffeine to get through the day.

A)	 I mostly buy Columbian beans; they are the best 
quality.

B)	 I only drink a few cups a day, I’m not overdoing it. 
C)	 Don’t you think excessive drinking causes sleep 

disturbances?
D)	 I now understand why I have been experiencing 

nervousness lately.
E)	 Some people may be more sensitive to its negative 

effects than others.

45.	 Derek:

	 -	 - - - -
Fred: 

	 -	 It depends on what you’re growing. Have you 
tried using compost or fertilizer?

Derek:

	 -	 I haven’t. Is that something I can make myself 
or do I need to buy it?

Fred:

	 -	 You can make compost at home, or you can 
buy fertilizer at a garden supply store. I can 
show you how to make compost if you’re 
interested.

A)	 I just can’t get rid of all the weed in my garden by 
myself. Could you give me a hand some time this 
week?

B)	 I’m having trouble with my garden this year. Do you 
have any gardening techniques that work well?

C)	 I’m looking for a gardening store that sells compost 
or fertilizer. Do you, by any chance, know a place?

D)	 I read in an article that fruits that you grow in your 
garden are largely affected by the fertilizer type you 
use. Is that correct? 

E)	 Each time I plant cucumber or tomato seeds, they 
grow to only 10 centimetres above the soil.
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46.	 Rachel:

	 -	 The tap in my bathroom is broken. Do you know 
how to fix it?

Patrick:

	 -	 It depends on what’s wrong with it. If it’s just a 
leaky washer, that’s an easy fix.

Rachel:
	 -	 - - - -
Patrick:

	 -	 Sure, I can walk you through it. You’ll need to 
turn off the water supply first, and then we can 
get started.

A)	 It’s a good thing we’re replacing it.
B)	 Oh no, that thing? I thought we could ignore it 

forever!
C)	 Do you need any help with that, or are you good to 

go?
D)	 I think that’s what it is. Can you show me how to fix 

it?
E)	 Okay, let’s turn the water back on and see if it’s still 

leaking.

47.	 Dwayne: 

	 -	 Have you ever had a bad experience in love?
Laura: 
	 -	 - - - -
Dwayne:

	 -	 It can be really tough to go through. How did 
you cope?

Laura: 

	 -	 It wasn’t easy, but I took some time to focus 
on myself and my own needs. I also talked to 
friends and family for support.

A)	 To me, love truly is about highs and lows, the 
laughter and the tears.

B)	 I know, he is charming and all, but I’m not sure 
where this is going.

C)	 Yeah, unfortunately I have. I think we all have at 
some point.

D)	 I’m sure you will, and I can’t wait to hear more 
about your adventures in love.

E)	 Let me tell you the worst part of my love affair with 
him.

48.	 Jessica: 

	 -	 I think there are many other important 
scientists that are often overlooked.

Robert: 

	 -	 Like who?
Jessica: 

	 -	 Like Marie Curie, who discovered radioactivity 
and won two Nobel prizes.

Robert: 

	 -	 - - - -
Jessica: 

	 -	 Exactly. I think it’s important to recognize the 
contributions of all scientists, not just the 
ones that are commonly mentioned in popular 
culture.

A)	 She faced numerous health problems throughout 
her life, due to her exposure to radioactive 
materials.

B)	 That’s mind-blowing. But I’ve heard that her 
research was also pretty dangerous.

C)	 So, have you ever wondered about the life of Marie 
Curie?

D)	 Speaking of numbers, I reckon that there are more 
innovations in medicine than there are in space.

E)	 Oh yeah, I remember learning about her in school. 
She was definitely an important figure in science.
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49 - 53. sorularda verilen cümleye anlamca en yakın 
cümleyi bulunuz.

49.	 Contrary to the managers, the employees do 
not keep on receiving salary increases when the 
company is facing financial challenges.

A)	 Pay rises cannot be given to the workers by the 
management when the firm is in a financial crisis.

B)	 The managers won’t get a pay rise during this 
financial crisis in the firm, but all of the workers will 
surely do.

C)	 During financial difficulties at the company, it’s only 
the workers whose pay remains unchanged, not 
the managers.

D)	 The management is reluctant to grant salary 
increases to the employees during times of 
financial turmoil.

E)	 In times of financial distress for the company, 
neither the management nor the workers receive 
salary raises.

50.	 Of the two classes of non-tectonic Earthquake, 
those of volcanic origin are seldom very large or 
destructive.

A)	 Non-tectonic earthquakes originating from 
volcanoes are rarely very extensive or harmful, as 
compared to the other category.

B)	 In order for an earthquake to be very large or 
harmful, it is supposed to be caused by a tectonic 
activity rather than by a volcano.

C)	 All volcano-induced earthquakes are always less 
destructive and smaller than the ones classified as 
tectonic.

D)	 Non-tectonic earthquakes are distinct from natural 
tectonic earthquakes, for they are small and do not 
cause much damage.

E)	 There are two types of earthquakes that are very 
large and destructive, one of which is originated by 
a volcano.

51.	 Some basic problems are common to all societies 
no matter what level of economic development 
they have reached.

A)	 If a society aims to solve its economic problems, 
it is supposed to eradicate all of its fundamental 
problems.

B)	 Even if they have reached to a level where they 
do not suffer financially, each society has some 
fundamental problems impossible to solve.

C)	 Although most societies can somehow achieve 
economic developments, there are some others that 
still possess fundamental problems.

D)	 The higher level of economic development a society 
has achieved, the fewer fundamental problems it will 
have.

E)	 Irrespective of the degree of economic progress 
achieved, certain fundamental issues are universal 
to all societies.

52.	 When people eat healthily and do regular exercise, 
they are likely to eliminate heart disease.

A)	 By both eating healthily and doing exercise 
regularly, people will surely manage to prevent 
heart disease.

B)	 Engaging in a healthy diet and regular exercise is 
likely to result in the prevention of heart disease.

C)	 The only way to prevent people from contracting 
heart disease is to advise them to eat healthily and 
do regular exercise.

D)	 One of the probable ways to prevent heart disease 
is to either eat healthily or do regular exercise.

E)	 It is likely that people will have heart disease unless 
they care about what to eat and how to do exercise.

53.	 The captain ordered everyone to abandon the ship 
just as the collision with the iceberg was about to 
take place.

A)	 As soon as the captain ordered all the passengers 
to evacuate the vessel, it collided with the iceberg.

B)	 The captain noticed that the evacuation of the 
vessel would be the only choice just before it had 
collided with the iceberg.

C)	 Just before the collision with the iceberg, the captain 
instructed all passengers to evacuate the vessel.

D)	 The order of evacuation came from the captain just 
when it collided with the iceberg.

E)	 The collision with the iceberg and the captain’s 
instruction to evacuate the vessel happened at the 
same time.


